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14.3 Simplifying Trigonometric Expressions

Simplify the following trig expressions completely:

1. tan®t{csc®t - 1)

4 cost csc t(sec’t - 1)

7. _tan’t
1 - sec?t
sin t 1-cost
10. + .
1 - cost sin t

2. cot tltan t + cot t)

5. sect tant cos t

8 secitan £
tan? s +1

cos t cos t
11. +

l1+smt 1-smnt

3. 1 - cos’t
sin 2t
6. tan’t + 1
1 + cot’t
9. sin’t cott csct

12.

sin t (1 + sin t)

1 - cos®t



14.3 Verifying Trigonometric Identities

Verify the following trigonometric identities:

— tan? x
1.S€C)CCOtx CSC X 2. = gecXx — COS X
sec x
(’IT ) . - o 2. 4,
3. tan _2_’ f— X Slnx _— Cosx 4 . 531N~ X — SIN" X = CO8“X — COs™ X
. = . Ny | X
s.cosx(cscx + tanx) = cotx + sinx 6. Ny = ot x cos X

sin x
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14.3 Verifying Trigonometric Identities

Verify the following trigonometric identities:
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